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1 Complete the crossword below.
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Across
3
See 4 down.
5
Brass is used for screws instead of copper because it is            . (6)
6
A metal that contains more than one element is called an          . (5)
8
The change of state that changes a liquid into a gas. (11)
9
Alloys are made because they have             properties. (6)
Down
1
Steel is used for car bodies instead of iron because steel doesn’t               as easily. (7)
2
A way of describing a substance that contains only one kind of atom. (4)

4 and 3 across Solder is used to join pipes rather than lead because the solder has a 
lower                         . (7) and (5)
7
What is formed when a solid melts? (6)
	2 Answer these questions about the metals and alloys listed opposite.

a
Which metal has the highest melting point?

b
Which metals would be liquid at 700 °C?


                                  and 

c
How are the melting points of alloys different from those of the pure metals?
	Metal

Melting point (°C)

Brass

900–940

Aluminium

660

Alumin bronze

600–655

Copper

1084

Cupronickel

1170–1240

Nickel

1453




I can...

· describe what happens during changes of state

· state what an alloy is and explain why they are made.
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